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Les quatre opérations .,

1./ Pose en colonnes et effectue ces quatre opérations :

2357,5+7862,8=10220,3

4108,3-3862,2=1246,1

2'3'5'7, 5 4'1'08,3
+ 78628 — 131862,2
10220,3 02461
357,5x6=2 145 87,5:5=17,5
°3'5°7 5 87,5 5
X 6 -9 17,5
2145,0 37
-35
25
-25
00

2./ Pose en colonnes et effectue ces quatre

opérations :

7 459,58 + 12 655,06 =20 114,63

64 190,65 - 33 267,4 = 30 923,25

'7'4'59,'58 64'19'0, 65
+ 1265505 — 3132167,40
20114,63 30923,25
4 870,5x 96 = 467 568 67,95:5=13,59
it 67.95 | 5
4870,5 -5 13,59
X 96 17
292230 J§9
+ 4383450 by
4675680 45
-45
00




